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7.5
y+1
a. Fy;(v)=P(Y}Sy)=P(2X—15y)=P(Xs——2—)

y+l

2 bat +1)?
=F_r(-";1)= | 40— 2x)dx =[4x—ax*]| 2 =[2y+2-40’—42—]=y2+4y+3
[

dF;
Fyl = 3:)’) =

i 0 otherise

2
‘1(-"—";43'"'3_)=2(y+2) ~1<y<0

l_
b. F (=P, Sy)zP(1—2X53’)=P(X2 2-")

-

y
- 2 y
=1—Fx(lTy]=l— I4(1—2x)dx=l-[4x—4x2]|02 =1—[2—2y—(1—2y+_v2)]
0

=2-v?, where Osl_Tyso.S—WSySI

R
dFy (¥) _ M=—2y 0<y<l1
3

F, »= dy

0 othervise
¢. F(»=PY<y)=PX'<y)=PX<.v)

-
=F,(»= jy4(1—2x)dx=[4x—4x2]|f=4 v -4y
[

0<y<0.550<y<0.25

4(4\/:;‘43’)_ 2 -4 0<v<0325

IAOE dv Jv

0 otherwise
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: ' o
a. F,(_v)=P(Ysy)=P(10X—4s,v)=[Xs}+4)=F‘,('v+
10 10
Xﬁ
1 LY
f.\'dx=("+4) -4<y<6
! 200
[e20)]
+ -—
F(l) f c=tyd 4—1=1’—l 6<vsil
4 2 10
d (v+4’ =,v+4 _4<y<6
dv 200 100
F(y )_dff(v) _d—l——l-=-l— 6<ysl1l
dv dv 10 10
0 otherwise
3 \|6 ot
b. EQ)= jv dv+j Y gy l—+zy’\ +2
100\ 3 l. 200
7
1(18+72+9——32) (112—36)=i+-1—-=§—7—=5.583
100\ 3 3 3 4 12
1 15
9 23
¢. EX)= jtzdv+jxdx }- (——1)=l ———1————0.9583
' 3 3 8 2 24
230
E(¥)=E(10X —4)=10E(X )—4—-—;—4:?—1:5.533



